No. 05-06/2022-WL/G-II

भारत सरकार / Government of India

संचार मंत्रालय / Ministry of Communications दूर संचार विभाग / Department of Telecommunications

(सामान्य २ अनुभाग / General II Section)

New Delhi,

06 March, 2024

ORDER

<u>Subject: Grant of "Scholarship" to the wards of DoT Employees for the Academic Year</u> 2021-22.

Sanction of the Chairman, Telecom Staff Welfare Board is hereby accorded for the payment of Rs. 11,57,200/- (Rupees Eleven Lakh Fifty-Seven Thousand and Two Hundred Only) on account of "Scholarship" to the meritorious wards of DoT Employees for the Academic Year 2021-22 as per annexure.

2. All concerned officers/staff are requested to submit their bank details, if not submitted with their application, to Ms. R Balasundhari, Treasurer, Telecom Staff Welfare Board, Room No. 1410, DoT (Hqrs), Tel. No. 23036849 for making necessary payment. In case any information furnished by any of the officers/officials mentioned in the annexure is found incorrect at any time, he/she will have to refund the amount paid to him/her.

(Rajnandan Kumar)

Welfare Officer & Under Secretary (T) Tel No: 23036300

)

Copy to:

- 1. Treasurer, Telecom. Staff Welfare Board for disbursement of the award.
- 2. e-Notice Board of Sanchar Bhawan.
- 3. Web admin for uploading the order to the department's website for information to all eligible applicants.

				Schol	arship for the Acad	emic Year 202	21-22					
Sr. No.	Name of the Employee (Sh./Smt./Ms.) & Designation	Office	Name of the ward(Mr./Ms)	Eligibility performa as per SI.No. 2(iv) of the circular submitted	Certificate from the employer in r/o sholarship is enclosed	Relaxation	Minimum Qualification	Stage in which studying	Marks(%) in qualifying exam	Admissible Rate P.M	Admissible Month	Amount Admissible(Rs)
1	EV Gayathri, AO	DoT (HQ)	Janani S V	Yes	Not applicable	No	12th	B.Tech 1st Year	85	1000	12	₹ 12,000.0
2	Bhaskar Majumdar, AAO	DoT (HQ)	Souhardya Majumdar	Yes	Not applicable	No	12th	B.Tech 1st Year	94.8	1000	12	₹ 12,000.0
3	Ajay Kumar, Director	LSA, UP West	Prabhav Tomar	Yes	Not applicable	No	12th	B.Tech 1st Year	95	1000	12	₹ 12,000.0
4	Devendra kumar, JWO	WMS, Shillong	Aayushi	Yes	Not applicable	No	12th	B.Tech 1st Year	79.4	1000	12	₹ 12,000.0
5	Sital Chadra De, Sr. Acc	CCA, WBC	Sinoy De	Yes	Not applicable	No	12th	B.Tech 1st Year	86	1000	12	₹ 12,000.0
6	Malay Das,	CCA, WBC	Mayukh Das	Yes	Not applicable	No	12th	B.Tech 1st Year	89	1000	12	₹ 12,000.0
7	Bairagi Mudule, Sr. Acc	CCA, Odisha	Priyadarshini Mudule	Yes	Not applicable	No	12th	B.Tech 1st Year	89	1000	12	₹ 12,000.0
8	Vijay Agrawal, Dir	DoT (HQ)	Pratham Agrawal	Yes	Not applicable	No	12th	B.Tech 1st Year	96.6	1000	12	₹ 12,000.0
9	M. Sreenivasa Reddy, AAO	Pr. CCA, Hyd	M. Neha Reddy	Yes	Not applicable	No	12th	B.Tech 1st Year	73.16	1000	12	₹ 12,000.00
10	Debjani Das, Sr. Acc	CCA, Delhi	Debargha Das	Yes	Not applicable	No	12th	B.Tech 1st Year	84.4	1000	12	₹ 12,000.00
11	Md. Gulrez Khan, Sr. Acc	CCA, Delhi	Almaas Khan	Yes	Not applicable	No	12th	B.Tech 1st Year	84.8	1000	12	₹ 12,000.0
12	Alok Bharati, DDG	DoT (HQ)	Anshika Dipti	Yes	Not applicable	No	12th	MBBS 1st year	95.8	1000	12	₹ 12,000.0
13	Arvind Kumar Jha, US	DoT (HQ)	Shruti Somya Jha	Yes	Not applicable	No	12th	MBBS 1st year	97.6	1000	12	₹ 12,000.0
14	Jyotsna Sandhu, AAO	DoT(HQrs)	Akampreet Singh Sandhu	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	76.85	1000	12	₹ 12,000.0
15	Vikas Dadhich, Dir	LSA, Gujarat	Arushi Dadhich	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	80.94	1000	12	₹ 12,000.0
16	T Bhanu, AAO	CCA, Hyd	T Leena Akshaya	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	69.16	1000	12	₹ 12,000.0
17	N Krishna, Sr. Acc	CCA, Hyd	N Rahul Goud	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	68.78	1000	12	₹ 12,000.0
18	Ch Kiran Kumar, AO	CCA, Hyd	Ch. Bhavana	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	83.69	1000	12	₹ 12,000.0
19	Bijendra Mohan, JWO	WMS, Dibrugarh	Mukul Mohan Yadav	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	74	1000	12	₹ 12,000.0
20	K S Sreebha, AO	CCA, TN	Ananya A	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	74	1000	12	₹ 12,000.0
21	Arun Gupta, Dir	DoT(HQ)	Vansh Gupta	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	72.39	1000	12	₹ 12,000.0
22	Mithilesh Kumar, SA	CCA, Bihar	Ayush Kumar	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	86.92	1000	12	₹ 12,000.0
23	Soni Jethani, SA	CCA,Bhopai	Rose Jethani	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	70.3	1000	12	₹ 12,000.0
24	Arvind Shukla, JWO	DoT (HQ)	Bhargavi Arya Shukla	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	70.87	1000	12	₹ 12,000.0
25	Pandey Vijay Bhusnan Prasad, DDG	LSA, Odisha	Pandey Shourya Prasad	Yes	Not applicable	No	B.Tech 1st year	B. Tech 2nd year	82.75	1000	12	₹ 12,000.0
26	Manjula R, SA	CCA, Kerala	Pramesh R	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	94.2	1000	12	₹ 12,000.0
27	Kaila Chandrasekhar, SA	CCA, Hyd	Kaila Anjana Devi	Yes	Not applicable	No	B.Tech 1st year	B.Tech 2nd year	75.62	1000	12	₹ 12,000.0
28	B . Narsinga Rao, JWO	WMS, Visakhapatanam	B V Girija Suraj	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	73.15	1000	12	₹ 12,000.0
29	Padam Kumar, AO	DoT (HQ)	Siddhant Toor	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	89.3	1000	12	₹ 12,000.0
30	P Srinivasa Reddy, Sr. Acc.	CCA, AP	P Sriharsha Reddy	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	86.8	1000	12	₹ 12,000.0
31	Ch Ravi Narayan Kumar, AO	DoT(HQ)	Ch Prabhath	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	82.5	1000	12	₹ 12,000.0

Jujut

Suly

Jegn

32	Shabnam Sharma, AO	CCA, HP	Rajat Sharma	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	94.33	1000	12	₹	12,000.00
33	Liaq Ram, Sr. ACC.	CCA, HP	Aayush Verma	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	68.11	1000	12	₹	12,000.00
34	K Suribabu, AAO	CCA, Hyd	K Sujana	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	67.35	1000	12	₹	12,000.00
35	Manu Ramavatha, Sr. Acc	CCA, Hyd	Rahul Ramavath	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	84.74	1000	. 12	₹	12,000.00
36	K Madhavi Lath, Sr.Acc	CCA, Hyd	Kanchi Jahnavi	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	74.29	1000	12	₹	12,000.00
37 '	S B Gangadhar, Sr. Acc	DoT(HQ)	Singasani Soumya	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	85.97	1000	12	₹	12,000.00
38	Pradeep Kumar Verma, JWO	IMS, Nagpur	Muskan Verma	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	88.1	1000	12	₹	12,000.00
39	Rajiv Kumar Nagaich, Dir	IMS, Nagpur	Vipra Nagaich	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	76.67	1000	12	₹	12,000.00
40	B . Narsinga Rao, JWO	WMS, Visakhapatanam	B V Girija Suraj	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	73.15	1000	12	₹	12,000.00
41	Jagdish Chander, SSA	DoT(HQ)	Vishal	Yes	Not applicable	No	B.Tech 2nd year	B. Tech 3rd year	83.72	1000	12	₹ .	12,000.00
42	Dinesh Prasad Sharma, SSA	DoT(HQ)	Arun Kumar Sharma	Yes	Not applicable	Yes	B.Tech 2nd year	B. Tech 3rd year	61	1000	12	₹	12,000.00
43	M. Sreenivasa Reddy, AAO	Pr. CCA, Hyd	M. Hemanth Reddy	Yes	Not applicable	No	B.Tech 2nd year	B. Tech 3rd year	85.76	1000	12	₹	12,000.00
44	Ajai Kumar Srivastava, JWO	IMS, Ghitorni	Akshat Srivastava	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	80.16	1000	12	₹	12,000.00
45	Hoshiar Singh Dabas	DoT (HQ)	Vanshika	Yes	Not applicable	No	B.Tech 2nd year	B.Tech 3rd year	85.5	1000	12	₹	12,000.00
46	Ashwani Lohtia, ADG	LSA(Haryana)	Paras Mahajan	Yes	Not applicable	No	B.Tech 2nd year	B. Tech 3rd year	74.86	1000	12	₹	12,000.00
47	Ashok kumar, ACAO	DoT (HQ)	Sambhav Khanna	Yes	Not applicable	No	B.Tech 2nd year	B. Tech 3rd year	85.88	1000	12	₹	12,000.00
48	Mukesh Kumar Morey, AO	CCA, HP	Kumkum Maurya	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	80	1000	10	₹	10,000.00
49	P S Chakravarthy, Sr. Acc	CCA, Hyd	P Sai Hamshika	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	81.41	1000	10	₹	10,000.00
50	Kasturi Vidya Sagar, Sr. Acc	CCA, Hyd	Kasturi Pooja	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	79.99	1000	10	₹	10,000.00
51	Devendra Singh Kachhwaha,	LSA, Meerut, UPW	Raghav Kachhwaha	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	71	1000	10	₹	10,000.00
52	G Brahmaiah, Dir	LSA, Arunachal pradesh	Gonugunta Shreya	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	72.01	1000	10	₹	10,000.00
53	P.R. Deepa, Sr. Acc.	CCA, TN	Apoorva Ravkhandran	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	90.82	1000	10	₹	10,000.00
54	Neeraj Singhal, DDG	DoT (HQ)	Suyashi Singhal	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	79.48	1000	10	₹	10,000.00
55	Sunil Rustagi, Sr. Acc	CCA, Delhi	Athary Rustagi	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	79.48	1000	10	₹	10,000.00
56 .	Kamal Kishore Fuloria, Sr. Acc	CCA, Delhi	Kartikey Fuloria	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	92.85	1000	10	₹	10,000.00
57	Om Prakash Singh, JWO	IMS, Ghitorni	Ayush Singh	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	76.47	1000	10	₹	10,000.00
58	Yogesh Nandwani, Engineer	DoT(HQrs)	Kushal Nandwani	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	89.68	1000	10	₹	10,000.00
59	Subhas Barua, AWA	RLO, Kolkata	Vaishali Barua	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	74.8	1000	10	₹	10,000.00
60	Vasudev singh, Dir	LSA, Raj	Aditi Singh	Yes	Not applicable	No	B.Tech 3rd year	B.Tech 4th year	85.9	1000	10	₹	10,000.00
61	Manu Ramavatha	CCA, Hyd	Seema Ramavatha	Yes	Not applicable	No	MBBS 1st year	MBBS 2nd year	69.77	1000	12	₹	12,000.00
62	Vinod kumar, Dir	TEC, New Delhi	Abhishree	Yes	Not applicable	Yes	MBBS 1st year	MBBS 2nd year	64.11	1000	12	₹	12,000.00
63	Shrigopal Agrawal, DDG	Term, MH, Nagpur	Maithili Agrawal	Yes	Not applicable	No	MBBS 1st year	MBBS 2nd year	72.89	1000	12	₹	12,000.00

Jujut

Phuz

Asgm

64	Balbir Singh, Engineer	DoT (HQ)	Priya Singh	Yes	Not applicable	Yes	MBBS 1st year	MBBS 2nd year	60.77	1000	12	₹	12,000.00
65	Tikendrajit Konwar	CCA, Guwahati	Priyanka Konwar	Yes	Not applicable	No	MBBS 2nd year	MBBS 3rd year	65.9	1000	12	₹	12,000.00
66	Smitha V, JWO	WMS, Mangalore	Aditi Dilip	Yes	Not applicable	Yes	MBBS 2nd year	MBBS 3rd year	60	1000	12	₹	12,000.00
67	Santosh Bhati, AAO	CCA, Rajasthan	Deepshikha Bhati	Yes	Not applicable	No	MBBS 3rd year	MBBS 4th year	70.35	1000	10	₹	10,000.00
68	Ashwani Lohtia, ADG	LSA, Haryana	Britika Mahajan	Yes	Not applicable	No	B.V. SC &LH 3rd year	B.V. SC &LH 4th year	75.7	1000	12	₹	12,000.00
69	Liaq Ram, Sr. ACC.	CCA, HP	Aarushi Verma	Yes	Not applicable	Yes	BDS 3rd year	BDS 4th year	64.67	1000	10	₹	10,000.00
70	Vandana Nangia, SO	DoT(HQrs)	Niharika Nangia	Yes	Not applicable	No	Pharma D 2nd year	Pharm D 3rd Year	70.9	1000	12	₹	12,000.00
71	Lalit kumar, SO	DoT (HQ)	Lavanya	Yes	Not applicable	No	12th	B.A 1st year	96.3	700	12	₹	8,400.00
72	Kumar Shashiknat, AO	CCA, Hyd	Aastha	Yes	Not applicable	No	12th	B.Com 1st year	78.83	700	12	₹	8,400.00
73	Koushik bhattacharya, Sr. Acc	CCA, WBC	Ayana Bhattacharya	Yes	Not applicable	No	12th	B.SC 1st year	80.4	700	12	₹	8,400.00
74	Vishnu B Bondre, MTS	IMS, Nagpur	Pranjali V Bondre	Yes	Not applicable	No	12th	B.Com 1st year	88.8	700	12	₹	8,400.00
75	Vivek Asthana, Dir	LSA, Meerut, UPW	Vaanshi Asthana	Yes	Not applicable	No	12th 3.	B.A 1st year	87	700	12	₹	8,400.00
76	S Janardhanan, Acc	WMO, Chennai	J Janani	Yes	Not applicable	No	12th	BCA 1st year	84.4	700	12	₹	8,400.00
77	Rajeev Kumar Tripathi, SA	CCA, Bihar	Sujata Tripathi	Yes	Not applicable	No	12th	B.A 1st year	89	700	12	₹	8,400.00
78	Ram Sagar Prasad	CCA, Bihar	Avika Rimanshi	Yes	Not applicable	No	12th	B.A 1st year	92.25	700	12	₹	8,400.00
79	Sanjay Kumar, Sr. Acc	NICF, Ghitorni	Divyankita	Yes	Not applicable	No	12th	B.A 1st year	81.5	700	12	₹	8,400.00
80	Sukhbir Singh, Engineer	IMS, Ghitorni	Manavi Chauhan	Yes	Not applicable	No	12th	B.Sc 1st year	96.2	700	12	₹	8,400.00
81	Yashwantrao P Dahat	CCA, MH	Ojasvi Yashwantrao Dahat	Yes	Not applicable	No	12th	B.A 1st year	75.17	700	12	₹	8,400.00
82	k Anil Kumar, SA	CCA, Kerala	Amal Dev, AD	Yes	Not applicable	No	12th	BSc 1st year	93.25	700	12	₹	8,400.00
83	Rajiv Mudgil, SSA	DoT (HQ)	Sanchi	Yes	Not applicable	No	B.A 1st year	B.A 2nd Year	78.6	700	12	₹	8,400.00
84	Devendra Singh Kachhwaha, Dir	LSA, Meerut, UPW	Mananya Kachhwaha	Yes	Not applicable	No	B.A 1st year	B.A 2nd Year	82.08	700	12	₹	8,400.00
85	Subhash Kumar Shukla, Sr. Acc	CCA, Bihar	Maitri Shukla	Yes	Not applicable	No	B.A 1st year	B.A 2nd year	67.58	700	12	₹	8,400.00
86	Samir kr. Dayal, SA	CCA, Bihar	Sahaj Kumar	Yes	Not applicable	No	B.A 1st year	B.A 2nd year	65	700	12	₹	8,400.00
87	Amit Gulati, Sr. DWA	DoT (HQ)	Soumya Gulati	Yes	Not applicable	No	B.A 1st year	B.A 2nd year	76	700	12	₹	8,400.00
88	R V Phanidhara Rao, Sr. Acc	CCA, Hyd	R V Samitha	Yes	Not applicable	No	B.Com 1st year	B.Com 2nd year	92	700	12	₹	8,400.00
89	Vikas Jain, Sr.Acc	CCA, Delhi	Ishika Jain	Yes	Not applicable	No	B.Com 1st year	B.Com 2nd year	72.1	700	12	₹	8,400.00
90	Siddhartha Rana, AAO	CCA, Delhi	Khushi Rana	Yes	Not applicable	No	B.Com 1st year	B.Com 2nd year	67.83	700	12	₹	8,400.00
91	Sathish Narayanan, PSO	DoT (HQ)	Gauri Sathish Namissan	Yes	Not applicable	No	B.Com 1st year	B.Com 2nd year	77.9	700	12	₹	8,400.00
92	Ananta Kumar Sahoo, Sr. Acc	CCA, Odisha	Bishnupriya Sahoo	Yes	Not applicable	Yes	B.Sc 1st year	B.Sc 2nd Year	60	700	12	₹	8,400.00
93	Vinod Kumar, Sr. Acc	CCA, Delhi	Tanishka	Yes	Not applicable	No	B.Sc 1st year	B.Sc 2nd Year	87.21	700	12	₹	8,400.00
94	Sreekumar P, SA	CCA, Kerala	Bhavya S Kumar	Yes	Not applicable	No	B.Sc 1st year	B.Sc 2nd Year	93.4	700	12	₹	8,400.00
95	Lekh Raj, AAO	CCA, HP	kartik Dhiman	Yes	Not applicable	No	BBA 1st year	BBA 2nd year	75.43	700	12	₹	8,400.00
96	Asha, Sr. Acc	CCA, Delhi	Padmanjali	Yes	Not applicable	No	BCA 1st year	BCA 2nd year	76.8	700	12	₹	8,400.00

Jujut

Rhoz

Asgus

						•	Total An	nount	₹	1	.157.	200.00	
114	Ashok Kumar Bhimani, PPS	DoT(HQrs)	Niharika Bhimani	Yes	Not applicable	No	B.El.Ed 3rd year	B.El.Ed 4th year	72.36	700	10	₹	7,000.0
113	Swaraj Singh, Sr. Acc	CCA, Delhi	Renuka	Yes	Not applicable	No	B.El.Ed 3rd year	B.El.Ed 4th year	65.45	700	10	₹	7,000.0
112	Dinesh Kumar Dwivedi, Sr. Acc	CCA, UP (E)	Manav Dwivedi	Yes	Not applicable	No	BHM 2nd year	BHM 3rd year	77.7	700	12	₹	8,400.0
111	Samir kumar Dayal, Sr. Acc	CCA, Bihar	Srijan Kumar	Yes	Not applicable	No	BCA 2nd year	BCA 3rd year	75.38	700	10	₹	7,000.0
110	Viresh Goel, JWA	RLO, Kolkata	Naina Goel	Yes	Not applicable	No	BBA 2nd year	BBA 3rd year	75	700	10	₹	7,000.0
109	Varghese C.L. SA	CCA, Kerala	Nivitha Varghese	Yes	Not applicable	No	B.Sc 2nd Year	B.Sc 3rd year	95	700	10	₹	7,000.0
108	Ajoy Kumar Panja, AWA	RLO, Kolkata	Shibani Panja	Yes	Not applicable	No	B.Sc 2nd Year	B.Sc 3rd year	66	700	10	₹	7,000.0
107	Bhuminder Kaur, Sr. Acc	CCA, Delhi	Simrat Deol	Yes	Not applicable	No	B.Sc 2nd Year	B.Sc 3rd year	87.88	700	10	₹	7,000.0
106	Naveen Kumar, ASO	DoT(HQ)	Khušhi	Yes	Not applicable	No	B.Sc 2nd Year	B.Sc 3 rd year	72.29	700	10	₹	7,000.0
105	Chetram Meena, MTS	DoT (HQ)	Nikita Meena	Yes	Not applicable	Yes	B.Sc 2nd Year	B.Sc 3 rd year	64.16	700	10	₹	7,000.0
104	Sharad R Chitale, ADG	LSA, Mumbai	Snehal S Chitale	Yes	Not applicable	No	B.Sc 2nd Year	B.Sc 3 rd year	76.64	700	10	₹	7,000.0
103	Sanjay Kumar Thakur, Sr. Acc	CCA, Delhi	Akanksha Rana	Yes	Not applicable	No	B.El.Ed 2nd year	B.El.Ed 3rd year	71.6	700	12	₹	8,400.0
102	Vikas Jain, Sr.Acc	CCA, Delhi	Harshit Jain	Yes	Not applicable	No	B.Com 2nd year	B.Com 3rd year	69.93	700	10	₹	7,000.0
101	Vandana Nangia, SO	DoT(HQ)	Kirti Nangia	Yes	Not applicable	No	B.Com 2nd year	B.Com 3rd year	93.67	700	10	₹	7,000.0
100	Hema Vazirani, SO	DoT(HQ)	Yash Vazirani	Yes	Not applicable	No	B.Com 2nd year	B.Com 3rd year	83.13	700	10	₹	7,000.0
99	Suja N, AO	CCA, Bangalore	Lakshmi S Nair	Yes	Not applicable	No	B.A 2nd Year	B.A 3rd Year	80.86	700	10	₹	7,000.0
98	Anju Mertiya, PPS	DoT (HQ)	Aditya Mertiya	Yes	Not applicable	No	B.A 2nd Year	B.A 3rd Year	65.17	700	10	₹	7,000.0
97	Sukhbir Singh Verma, Sr. Acc	CCA, Delhi	Simran	Yes	Not applicable	No	B.A 2nd Year	B.A 3rd Year	83.5	700	10	₹	7,000.0

It is certified that the wards as per details given above are elegible for the Scholarship.

Prepared by-

Jujut Inderjeet, ASO (G-II)

Checked by-

Md. Asgar Hussain, SO(G-II)

Countersigned

Rajnandan Kumar, Welfare Officer